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In an university, there are total 70000 students. 14% of the students like only
music, 22% of the students like only dance, 35% of the students like only
sports and rest of the students like all three. Find the number of students who
like all three.

s fayfaenaa §, o 70000 faemif €1 14% fenfial @ dHaa wild wig §, 22%
[qenial @ Had T WiE 8, 35% [dendl &1 dad 9d URie g 3R AN (el o dEi
dic © | diFl &1 WRie & ard faenfdal &1 S fodnt g2

a) 38400
b) 49700
c) 52200
d) 20300
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Anusha scores in 15t semester's and 2"9 semester's examination are in the ratio

of 9: 11. If she got 240 marks less in 15t semester than in 2" semester, then
what is her average marks in both semesters?

Ugd YU 3R gAY YHER Pl GRI&T T 3FNT Dl U 3fh| &1 3Hurd 9:11 g1 gl 34
Ugd JHWR U g JHeR &I a1 H 240 3 HH UId Bid ©, ol aFl JHeR H 39F gR]

-

T 3{Rd 3id fhad ©2

a) 1080
b) 1280
c) 1000
d) 1200
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What will come in the place of the question mark “?’ in the following question?
f’f 1331 — 14+ 3.5+ 20 x 35 =7
afeiRad Uy o Usarde fog '2' & RIH R &RI1 3ATWN?

v/1331 —14 +-3.5+ 20 x 35 =7

a) 7
b)
c) 7

d) 6
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The average age of A, B, C, D & E is 40 years. The average age of Aand B is
35 years and the average age of C and D is 42 years. The average age of E is
A, B, C, D 3R E o 3{IId 3 40 a¥ 5| A 3[R B Pl 3Fd M 35V g 3R C
3R D DI 3 3 42 98 5| E DI 3G 311 o

a) ) years
b) ) years
C) ) years

d) one of these
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In what time will Rs.1000 becomes Rs.1331 at 10% per annum compounded

annually?
R A

fohd- 9999 ° 1000 PRI qNp U g

SITuil?
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If two numbers lie between 60 and 90 and LCM and HCF of these two numbers are 340, a
respectively, therfind-difference between the two numbers?

&/dd g 3R 24 Gl G131 ®I dYdd JHMddd (LCM) 3R Agdd JHgddd (HCF)

m:3401?',$ﬁﬂwaﬁ$eﬂqm|aidmmaﬂﬁm?
Hef =1 17
o} o - m / b) 34
g W

have 4 £4 5/9?4 ‘g
MQGPMMQ Cb

et ey |

c) 51

—_—

>
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U Afad 4 500000 30 § U di2d 3R Udh HR WRIdH 3T T8 @ 20@% dH W 3R PR ﬁ 10% bl

S W o &1, TS99 ©d 5% ST 1Y g1 913 bl HIFd AT iford?
A man bought a bike and a car for Rs. 500000. He sold the bike at a gain of 20% and the car at a
loss of 10%, thereby gaining 5% on whole. Find the cost of the bike?

| ) 200000
59 g [F%]yssonns

c) 150000
| d) 180000
X )
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Three men, four women and six children can complete a work in seven days. A woman does

double the work a man does and children does half the work a man does. How many women
alone can complete this work in 7 days?

dF I¥W, IR Higdll 3R 98 dd I1d i ¥ Uh H1H R HR Ybd g1 U Higdl, Th USY &I Jal ﬁ@lﬂ?ﬂ
BT B! ¢ 3R T aedl, b GoH Bl Je1 H S DH1H Bl %‘I GISEI Wjﬁ Y B Bl I
B Ghdl 82

Q{w?w

c) 12

d) Cannot be determined
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A takes_twice as much time 3s B or thrice as much time a@o finish a piece of work. Working
together, they can finish the work in 2 days. How many da?s./Es alone will take to finish the work?

A TH S DI B Bl a1 § e 9T § a1 C DI o1 H T 57 © QR S 4R 1Y HH Hd gU, d
&M Pl 2 &l IR AR Ihd @ fha fodl O B R HR Ghdl 872
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A bagof 731 kg/of rice is divided into three other bags. If the quantity of rice |' is 2/3"d

times of quantity of rice in 3rd 95-:_:; and quantity of rice in 2nd hag is 4/7 of quantity of rice in 15t
bag, then what is the quantity of rice in 2" bag?

731 f&dl 91dd & UP Add &I, oI dal o faurfeid fhar Srar g1 afe ugd d9dd & dd &f 911, dieR 9dd & Ad
Pl UET BT 2/3 TH1 § 3R G8R I1dd & o &l JET, Ugd d1dd & dd &I GE1 &I 4/7 ©, A G8R d1d9d Prdd Pl

A fhd-l 82
¢ |(\7 @Xfl 2'\4 o _4____)(9\ 136 kg

—
S—

2 3 x1 Lo ("DxX2  b)133 kg
’QP \—/® c) 168 kg

d) 172 kg
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Marks obtained by A and B in physics are in the ratio 4: 3 respectively. A got 80 marks in

chemistry and 20% more marks in physics. If B marks in chemistry are 15 more than his marks in
physics, then calculate his marks in chemistry.

UIfdd! d A 3R B gRT UTK 3 HHT: 4: 3 & U H g1 A Bl J9EH fa3= § 80 3R Hifdd 93 H 20%
3¥H 3idb e g1 gl TEA fagF | B & 3id Hifdd! § 39d 3idhl U 15 3Hi9h gi, di T9gq a3 H 396
il DI TMUMET BN |
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U 3Ad P r:1‘=s1|«£ U qil Dl YAl & 3/5 %| U gl @l ol 1l bl Yoll & sRIeR g| qﬂﬂﬁwﬁfﬁ 132 UHi. g
afG 3Td &l dISls 8 UHI. ©, 1 3Ud & &9%d fdbd-l g2

The length of a rectangle is three-fifth of the side of a square. The radius of a circle is equal to
side of the square. The circumference of 1{& circle is 132 cm. What is the area of the rectangle if

the breadth of the rectangle is 8 cm?f} - Qﬁx?) =[ 5D 4] = 169 -8 %3-"
° 5 | a)112.4 sq. cm.
b) 104.2 sg. cm.

0)41—6{8 sg. cm.

) 106.4 sqg. cm.
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What is the mode of 8, 6, 4, 8, 2,
and 37

8, 6, 4, 8@?, 7, 6,@8, QA-

.FU.F 1.!' U.F U.F 1.!' 3! 2! U.F 1!’ ?.F 3! 4! 3!‘

% g b 82
a) 3

b) 2
hede - © c) 1

0
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A person has bought a chemical for @Iitre. In what ratio should it be mixed with water so
that after selling the mixture at Rs 4 ftre he may get a profit of 50%7?

U Hfdd 4 50 $Y Ufd diex ¥ Uh I Wiial| fd 3-urd § 39 Ul § e S
¥ Uld diex dd & dlg 34 50% &I oY fig b2

o
1X F %
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In a company, 1080 sweets distributed among employees. If each employee got 4.8 times as
many sweets as the number of employees in the company, the how many employees are there in
the company?

U Sl T ARl & did 1080 Tars didt 121 afe Udd SHaR &l Hu-l T Ul ST G
firorg fiedt 8, df $u-t # fhdd ARt §2




